20195 HAEE

* FFREIEBICR BN DY £,

Rl [RERR]

82— I A7 S BEL =
E3tkrx—#%%1 AIB FH
16:00—17:45
S3tra—#H% 1 A (7/12. 1402AR) AR
= 31tE [RIGERE 24 H Jeil
1T | 7/12(%)~7/15(8) | 18:00—19:45
=3 BA% : BEAE (F1R) NI
5 3FITAEX i
20:00 — 21:45
=31E [RIGERE L2 FE] T Jeil
14:00— 15:45 = 32 EHEES =
16:00—17:45 = 3%EES /NG
S1#FSC A%
18:00—19:45 S2%E [#h%] H FE
2T | 7/17GK)~T7/20(%) B3tV E—EHX - EX = 18]
B1H2 | AEE (LFR) N2
=28 %51 (iR S =
20:00—21:45
B 3EANIATEX =18
=398 [BhZ] H FE
S3H% I AIIB—H %
14:00 - 15:45
S3HFIAIB=S =
S2ERHE Byl T A=
17:00-19:40
52 XEHF Byl H %
3T | 7/22(B)~T7/25(K)
16:00—17:45 Z34v X —HE B
S1xET il
18:00—19:45
= 1%EH VN:]
20:00 —21:45 B3 BFEEAEX all
14:00—16:40 E3EET ) g
14:00— 15:45 =33EH 1 LN
16:00—17:45 = 33EH 2 P
B 1 EBRETE P
AT | 7/27(£)~7/30(k) | 18:00—19:45
=2 BEH LN
=152 AEE (EER) =
20:00—21:45 = 2ES AR
=38 [(BhZE] T =i
E3H2IEBT FH
14:00 - 15:45
=3 BAE : BHAE (BIF) NI
17:00-19:40 H2ERHE [EHyEl H FH
16:00—17:45 S 3% - H 14 AN
S1BRAX - HX i
5T 8/2(£)~8/5(8) | 18:00—-19:45
23t rya—1BARAX kil
= 2BAX - BAXH i
B3IXRHET 14 AFN
20:00 —21:45
B3I ARARX I
S34E [E%]) H FEF
14:00— 15:45 = 3 T H R R R ) g
5 1%=% =Mk H FH
17:00—19:40
=2%ET 3 iz
B 2 METTE A=)l
18:00—19:45
6T 8/7(7x)~8/10(+) =3{F [EgLE (&8xE) | T Jeily
= 13ESC Al
=2HF [HEXEER] (EER) FH
20:00—21:45
S3E [BX T =i
= 31tZF [E#tE (&Bxk) | H Jeily
18:00—19:45 m2HF THEXREER] (%R R H
7T | 8/15(K)~8/18(H)
18:30-21:10 S3ER¥ET BA
18:30—21:10 S1%% (=M T AR
=28%% %5 (#H%) S &
8T | 8/20(:k)~8/23(s)
20:00— 21:45 =21 [ERlEE] H A
= 3 BRI KIRAI ke




